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PSET 3 #1
I still don't get P-Set 3 #1. I asked TA Krishna, but he did not know the answer. The 2 other students in the lab were also confused.

I think the problem is saying that the channel is delayed by N time steps. H[n] is a. description of the channel, right? We use the unit sample to describe the channel,We have not yet put anything in the channel, right.

We have to put stuff into the channel in order to measure the eye diagram. So say we put in 00, 01, 10, 11. 11 and 00 are not interesting. But then 01 and 10 will cross at N. 

So as N increases the eye diagram lengthens horizontally???? (I have a picture drawn on paper, but can't share online) 

IR Fabian Lim

View plain text
· Attach File
If the eye diagram lengthens horizontally, that means that the delay is affecting each bit in the sequence kind of in a different way. Is this true? Or should every bit be shifted by the same delay? In this case what should happen to the eye diagram?

Tip:
Will introducing delays change the channel substantially, such that it affects detection? Or do we just wait longer to see the bits? If we put a bit into a system with delay N=2, we just need to wait 2 samples to see it. So this should simply only affect the latency of the system, not the fidelity. This tells us the eye shouldn't be affected ``too much''...

(Another tip : If thinking about a delayed unit sample response h[n] is confusing, then think about putting delays on the input x[n] instead, i.e. a signal 0,0,1,0,0 becomes 0,0,0,1,0,0. You will get the same effect).
Attachments:
	


Michael Plasmeier
- Right, the receiver never knows that there is a delay (since it does not know when the message should start), and thus the eye diagram (which starts when the receiver detects the symbol is starting to change) will not be effected "at all" at least with auto-generated eye diagrams. A hand drawn eye diagram will move further to the right, as more blank space is added to the beginning. Correct?

Fabian Lim
Well ... yes. But as I understand eye diagrams, it has a `wrap-around effect'' (think of word-wrapping in a text editor). So the blank space in the front will be covered by stuff at the tail as it ``wraps around''
Michael Plasmeier
Where/when does the wrapping take place? Does it depend on how many bits you have chosen to show on the eye diagram?
Fabian Lin
No. Irregardless of how long your eye diagram window is, a delay of 1 will ``wrap'' once. As you said, one blank space will be introduced at the beginning. The last sample in the eye diagram will shift to the front.

To get more than a delay of 1, e.g. delay of 3, just repeat my argument above 2 more times.
Anonymous
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